— MYyox v G E
Hig o RERILHE (BEE) S EshEEE
1 5
X 4 (I i E =t m| HEhE g | EE BEk HRBR | ERRARIR fis
Sk R wo|H w(yg oF it g
(Bl ], B S ) m| (FB: EY, FEEFD) m cm cm

KIFE R xv FIETiA ) FERTAZY 2,826.0( 3.50| 0.00] 1.16 4.70 555 0| UM +HERPEK |HY  [FEEk214F
2 3B THAEIFA T ST 3.50] 0.00] 1.16

AR R oL BB TR S AR 1,192.9] 3.50| 0.00[ 1.25 HY  |ER19%E
2B THAEFAET B o 3.50]  0.00] 1.25

BrE koL B E THAEFAET B o R 210.7| 3.50] 0.00] 1.25 AHY  |ERI8H
2B THAEFAET B 4 3.50]  0.00] 1.25

FHFH— R FEIE T ERRET R L 1,136.0/ 3.50| 0.00[ 1.25 HY | ER204
H:ZE AR S = 3.50]  0.00] 1.25

FHFE T R R H G FR T 671.0| 3.50] 0.00| 1.25 HY | ER204
H:ZE AR e = 3.50[ 0.00[ 125.00

BE k>R v SRR tH- ER AT R 5E 542.0| 3.50] 0.00[ 1.16 4. 50 644 0| UM +HERPEK |HY  [Fpk234E
s e PG 3.50] 0.00] 1.16

=E g SRTESIT =R 292.0] 3.50| 0.00] 1.10 4. 50 647 0|URIMIEHEAK  |HY  |PERk214E
“RAEEIT = 3.50[  0.00] 1.10

E WM o xL SRS AT 993.0[ 3.50] 0.00] 1.00 5. 24 714 400FY (2oft) |FH | EEk26F
ZRTT = BIRNE 3.50] 0.00] 1.00

=R~ rpov =R = BIRNTE 571.0| 3.50| 0.00[ 1.00 5.09 558 40|UR+ IR (Y [R5
=R = B IR [ 3.50] 0.00] 1.00

2 8,434.6

1/1




— N S - 5 =
HArg o RERITER (il S EE
1 b5
X % (I i E EER=! m| HEhE g [ EE ek HRBE | ERRARIR fisi
Sk R woH|H wlkg A it R
(Bl ], B i) m| (kB EY, FEITFD) m cm cm

=0 AN V% JE SR T K 535.0| 3.50] 0.75] 1.00 4.70 647 0| UM +HERPEK |HY  [Fpk244F
JE R T AR kT 3.50]  0.75] 1.00

JIRE b > v JE ST B FnmT 4 1,030.0/ 3.50] 0.50| 1.25 4.70 647 60| UM +IFIEHEK |B Y | SERi244
JE R AT 3.50]  0.50] 1.25

EYER YNV V% FE U B Fnly 394.0/ 3.50| 0.50| 1.25 4.70 616 BJIFEYL (Z2ofh) [HY | FRk234E
FEJR T B Fnfy 3.50]  0.50] 1.25

TARA bRV FEJR 166.0| 3.50| 0.50| 1.25 4.70 611 30( H #R kK HY | FEk234E
FEJR T 3.50]  0.50] 1.25

L ENZNY NV 12 FEJRTH 680.0| 3.50| 0.75| 1.00 4.70 714 40| H 2R 48E7K FHY | ERk244F
FEJR T 3.50]  0.75] 1.00

FEA NIV FEJEUH O Ty s 2,428.0[ 3.50| 0.00| 1.25 4.70 575 40| UB+IFIREEAK 1B |34
FEJRT F RO T A PN 3.50]  0.00] 1.25

& Frv FEJEHT O RRIT AT A N 209.0 3.50| 0.00] 1.25 4.70 575 101 (Fofl) |BHY |23
FEJRT E RO T A PN 3.50]  0.00] 1.25

Prfiss b o xoL FEJEH ARy AT A 1,329.0| 3.50| 0.75| 1.25 4.70 611 35| LA +HEIRPEK |HY  [FEk234E
JE T O Famy oy s 3.50 0.75] 1.25

KIA R v JE o VR T v S TR i R 4,878.0| 3.50] 1.00] 1.25 4.70 672 40| UB+IFIEEEAK 1B | SERi244
AR EZE R T & E T & H 3.50]  0.75] 1.00

AR W ¥ ERETH S HNT & E N 506.0| 3.50] 0.75] 1.00 4. 50 647 0[N (Fofth) |HY  |[FEk24F
E A T & T N 3.50]  0.75] 1.00

HHE RV 2B 17 T 1,627.0] 3.50| 0.75] 1.00 5. 50 555 0FY (Zofh) [HY | Frk224E
E A T 5 T 3.50]  0.75] 1.00

N RVE Y% ERG TS TR )R 425.0( 3.50] 0.75| 1.00 5. 50 550 BJIFEYL (Z2ofh) [HY | Frk22E
EFA T & BT B 3.50]  0.75] 1.00

MR N R ERET =) RITNE 801.0| 3.50] 0.75| 0.90 4.78 558 0/FEY (Fofh) [HYo | TFRk234FE
E =V LIE 2Nl 3.50]  0.75] 0.90

1/2




5=
B4 RERDR (VLE) S EEE
Kk i
[ i £ Fr & P 4 TR g B m| H%hE g EE ek FRE | BERRAEK
S R # (% (K " ik i
(B ], T B e nUAD) m| (BB BY, FEERD) m cm cm
FRER R EFE TR LRER 971.0| 3.50] 0.75| 1.00 4.80 517 40FY (2oft) |FH  |EE2IE
i AU FRESS 3.50] 0.75] 1.00

e 15,979.0

2/2





